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Note:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Attempt any four questions.
All questions carry equal marks.
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1. Dis : : . ,
Febcrl:: t;e rolc. of workers and soldiers in the

ot Iy A evolution. Did the peasants also contribute
o the downfall of Tsarism?
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. Would th -

without L;r.e 9haYe been a Bolshevik Revolution

of th o Discuss the reasons for the overthrow
e Provisional Government
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- Discuss the relationship of the Whites and the RedS

“with S
led tot 1:; peasantry during the Civil War. What factors
e victory of the Bolsheviks eventually?
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4. Itll):scuss. t.he features of War Communism. Why were
e policies of this period abandoned?
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. Write short notes on any {wo 0
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. Assess the achievements and failures of t_he»v NEP

period. )
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What do you understand by primitive socialist °

accumulation? What were Bukharin’s objections to

Preobrazhensky’s ideas?v
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Did the process of collectivization turn into a war -

against the peasantry? How did collectivization affect

Soviet economy and society?

f the following topics: |

(a) Workers’ Control

(b) Comintern
(c) Women in the USSR in the 1920s

(d) Grain Crisis of 1927-28.
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